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Collector-base breakdown voltage V CBO IC = A, IE = 0 V

Collector-emitter breakdown voltage V CEO IC = 1 0 m A , I B = 0 V

Emitter-base breakdown voltage V EBO IE = 1 0 ì A , I C = 0 V

Collector cutoff current ICBO VCB = 0 V, IE = 0 A

Emitter cutoff current IEBO VEB = 4 . 0 V , I C = 0 A

30

IC =50 mA, IB = 5 m A

Transiston frequency fT VCE= V,IC= 0mA,f=100MHz MHz

Collector output capacitance Cob VCB=10V,IE=0,f=1 MHz pF

V = V, = 0

* Pulse Test: Pulse Width≦ 300 s, Duty Cycle≦2.0%.

Base-emitter saturation voltage * VBE(sat) V

hFEDC current gain

Collector-emitter saturation voltage VCE(sat) V
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